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BOTANY
(Regular Elective )

Answer the 'Questions from aﬂy one Optioﬁ.

| OPTION-A'
( Cell and Molecular Biology)
Paper : BOT-RE-5016

| ~ OPTION-B
(Economic Botany and Biotechnology)
Paper : BOT-RE-5026

| OPTION-C ,
( Genetics and Plant Breeding)
Paper : BOT-RE-5036
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
(Cell and Molecular Biology)
Paper : BOT-RE-5016

1. Answer the following questions :  1x7=7

wete frdl erTies Ul R 8

() Which lens is used in phase contrast
microscopy ?

91 27?2
(ii) _Who proposed cell theory ?
(PR (I ferl7R e 2

(i) During meiosis, when the mechanism
of crossing-over taking place ?

ey T Feowm dfear @i ™o @b
el FeAw 77 e :

(v) Who for the first time proposed the
‘Operon Model’ to explain the regulation
of gene action ?

e feFal g crae ‘Operon Model’
AR (P K@ Sare sRfRer? -
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(v)

(vi)

(vii)

Write the function of RNA polymerase.
RNA +'foacEs a@nies S &2l |

Write the scientific name of the
organism, in which Griffith had
conducted his transformation
experiments.

AR 3ol B9 (AT A9FIE AR I
39 S4TSR o) &0

Mention the different types of DNA

replication.

DNA SHFOIER [ier asenR & /e

Answer the following questions : 2x4=8

oo PR Oed ol ¢

(1)

(@)

Write a very short note on
mitochondrial DNA.

TEH = Ga DNA F={t pio (BRel fovi |

What is the functions of Lysosome ?

ARG T{ Fe] ol |
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(i) Who invented electron microscope ?
Write the names of two different

electron microscope.

(P AT TG ST T SR SR ¢
ﬁ SRPITT SCETRG ST TE I S 7 |

- (iv) What is Genetic code ?

fGEhs 3T e 2

Write short notes on any three of the
following : ; 5x3=15

wete Tl il fofanrT 53 e ol ¢
(i) Fluorescence microseopy

F NG ST T

(i) Ultrastructure of chloroplast with
diagram

2R 915 (foa i)

(i) Membrane protein and their functions

(PRI o O O FifiRen
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(iv) Salient features of Watson and Crick
model of DNA (Draw suitable diagram).

3i5ee S & 2mie 991 DNA 9 51079 320
wiRiEPE o1 (b i)

(v) Different types of RNA and their
functions.

ffon =T RNA SIi% ©F) S |

Answer any three of the following
questions : 10x3=30

TS GrEd T TR ﬁﬁ‘ﬂﬁ? ot Tes Tl 3

(i) With suitable diagram describe the ‘Lac’
operon model for regulation of gene
action in prokaryotic cells.

PR (@I (Feo oA e e
9% ‘Lac’ operon Sbd REw foar il
| -
(i) Describe the semi-conservative mode of
DNA replication and mention the
various enzymes with their functions,

required for replication process.
7+3=10
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DNA &3 9i¢-73fre Sgrepias afenes! af : (vi) What is cell membrane ? Mention the
WWWW@W@Q@WW : various models of membrane
SEr ' ' \ . k , structures. Describe any one model of

Al membrane structure with diagram.
' 2+2+6=10
@RS 2 Ricq ooRT @RI 917 T

eukaryotic cell and write the . ; : .
significance. 7+3=10 TrEd 9 9IS Reeie 9 sion o Sifs e
41 |

FIPAELR @RS @Rl fer s @ Rome
e 0 N i R RO T
e A |

(iv) Explain the Hershey-Chase
bacteriophase experiment to show DNA l £

(iii) Describe the meiotic cell division of

as the genetic material. (Draw diagram)
2+8=10

DNA (S5 171<( 5 e 33621 Hershey-
Chased IR TET 70 91 AFHHI
3 = (g Siifen) |

(v) Describe the ultrastructure of
mitochondria with the help of diagram.
Explain why mitochondria is called as
powerhouse of the cell ? 6+4=10

foa Siifs TizBTIGaIT a1ow < vt | SRR
e ST 361 a0 o 20
Contd. .
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OPTION-B

( Economic Botany and Biotechnology )

Paper : BOT-RE-5026

Answer any seven of the following

questions : 1x7=7

T I Aeh e Beq Rl

(@) Centers of origin of crop plants were

()

(c)

5 :

)

first identified in the V20 A

Ciews *< Besife @ ... I Hare
41 2 |

Cereal is"alsocalled ......c...o....
LTSS *HF .............. e 7|

What is GenBank ?
GenBank f&¢

Full form of PCR is ........... Wiy
PCR =5 ¥l ............... !
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What is the scientific name of Indian

()
Bay leaf ?
(oElNes (qeslfE Fi 2
(@) Cotton fiber is made up of ............... -
AT B oo il 9w |
(h) Who coined the term Biotechnology ?
GReYfERm *0! (@I 92T TR ?
(i) Wha_t'is totipotency ?
UE (oI
Answer the following questions :
2x4=8
- oo PRI OeT fordf
(a) Callus
(TR A o 52
(b) Molecular marker
iR e
(c) Gene therapy
ferta e
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(d). Bioinformatics as interdisciplinary
science |

3 "Aniswer "any thrge of the foIlowing
questions : | -+ 5%3=15

o[ et fofant ey Be B g
(a) - Molecular diagnosis of human disease
TR @ R fo
(b) ELISA technique
3l o
(c) Molecular phylogeny
- iRk 3 JE
(d) Cotton plant and cdtton fiber

AT MR I FAIRT T

(e) Hybridoma technology for production
of monoclonal antibody |

QRO o TIET GRRA Sestim
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4. Answer any three of the following
questions : . - 10x3=30

(@)

®).

What is tissue culture ? Write briefly .
about the process and importance of
tissue culture. -7 7 2+8=10
eI o7 TATE oS TIE W ST
Raca Bt : B

Discuss briefly about the history and

~ scope of Biotechnology.

()

(d)
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SrefERmR TG F ofRTe R T < |

What is data retrieval system?
Explain the scope and branches of -

bioinformatics. ' 3+7=10
o2 T G 3 2 AL TSR ARPR =I®
T R :

Explain the importance and use of
proteomics and genomics in crop

improvement and drug discovery. ;
' 5+5=10

W%ﬁwqw@aawﬁw—g CACEIRSEANIES
ofaiTe REE oFg % JIR T

B2l

Coﬁtd.



" (e) Write brief |
procedure of
and uses of tea. teap Tepar ation S
" 6+4=10 ‘ SR OPTION—C

BIX A4FS Yeli=] . ,
_ AT . TN IR R B ' ( Genetics and Plant Breeding )
- ' ’ Paper : BOT-RE-5036

: K . 1. Answer the following questions :,:' 1x7=7

(@) Who'is the father of genetics ?
T IS ﬁ@m forg 1 PRI TW?

(b) Define allele.

- (c) Which one represenfs Mendel’s dihybrid
cross? '

e A-TIER THATS (RRTCD! 2
[ 9:1:1:3
) 3:9:3:1
i) 9:3:3:1
(iv)‘ 9:1:3:3
(@) Define linkage.
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(e) At which stage crossing over takes

- place? :
ARG 2 PR TTe =2
“:={f).. Name the genes associated. with
Y-chromosome. " % ;.7
YaweTe 6 R @R B Q@i
(g) Define ,Pleitropism..
famgiferm e
Answer the following questions :  2x4=8
© (a) Whatis aneupioid ? What are its types ?
23T Fe GeRe aeig & e
(b) What is hybrid vigour?.
M3 I [2

(c) Write significance of crossing over.-

SRS RS R G R
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"~ (d) What is chromosome map or genetic’

map ?

m’wmﬂﬁﬁamw’@f’mﬁﬁﬂﬁﬁ?

. Write short notes on any three of thev
~ following : : ot 5%3=15

wers faal e f@‘ﬁrﬁﬁ Bﬂ ct‘m ot ¢
(@) Mechanism of crossmg over

sfraralfes et -

(b) Sex-linked genes

st v fom

(c) Frame shift mutation
s TR SRS

(d) Cytoplasmic inheritance -
(PRI I

(e) Chi-square test -

513 CFRIT (B8

Answer any three of the followmg

questions : 10x3=30

Wﬁmmrfﬁff oiraiRs Tt T ¢

 {a) What is inversion ? Discuss its types

and effects. ' 2+2+6=10
oA /e WW 4R OIF O Hoid
e 39 | '

3 (Sem-5/CBCS) BOT RE 1/2/3/6 15 © Contd.



(b)

(d)

(e)

Write an account on inbreeding
depressmn

wzaw Wﬁm Redt i)

_ Define epistasis. Discuss with suitable

example _ » 2+8 10

ﬁfiﬁmﬁw%ﬂ@w«m
S HCEDA T |

Discuss the role of biotechnology in
crop improvement.

PR 73 R AT SR GliEig g
Ao F<T

What are haploids ? Discuss the
characteristic features and production

of haploids. 2+3+5=10

- Gl 2 @@Whﬁﬁ]w@ﬂmﬁm
[ e
What is mutation ? Give an account on
chemical mutagens. 2+8=10
BeriRad 2 iR @aﬂm R
G R
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